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Łuk  W2

R= 10,00
g[g]= 66,0454
Ł= 10,37
T= 5,71
B= 1,51
X(N)= 5846487,00
Y(E)= 7444455,27
i= 4,00%

Łuk  W3

R= 38,00
g[g]= 64,8785
Ł= 38,73
T= 21,23
B= 5,53
X(N)= 5846449,50
Y(E)= 7444483,51
i= 3,00%

Łuk  W4

R= 500,00
g[g]= 5,5398
Ł= 43,51
T= 21,77
B= 0,47
X(N)= 5846393,54
Y(E)= 7444461,57

Załom  W5

w lewo
g[g]= 1,1074
X(N)= 5846366,66
Y(E)= 7444448,23

Załom  W6

w lewo
g[g]= 1,3019
X(N)= 5846335,53
Y(E)= 7444433,45

Łuk  W7

R= 200,00
g[g]= 7,9405
Ł= 24,95
T= 12,49
B= 0,39
X(N)= 5846309,75
Y(E)= 7444421,85

Łuk  W8

R= 100,00
g[g]= 7,8371
Ł= 12,31
T= 6,16
B= 0,19
X(N)= 5846268,22
Y(E)= 7444409,09
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POCZĄTEK OPRACOWANIA

W9

KONIEC TRASY

Y(E)= 7444395,74
X(N)= 5846192,70

0+323,00

KONIEC OPRACOWANIA

Y(E)= 7444458,30
X(N)= 5846494,33
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